Engineering Science @ Forfar Academy [dl Vsl

Challenge #6—Garage Door

An automatic door for a garage is operated by a microcontroller. The door is
opened/closed by an electric motor with 2 limit switches to detect if the door is
fully open or fully closed.

The user has a remote with an ‘open’ button and a ‘close’ button.

. When the ‘open’ button is pushed, the motor must rotate clockwise until
the “fully open’ limit switch is pressed.

. When the ‘close’ button is pushed, the motor must rotate anti-clockwise
until the “fully closed’ limit switch is pressed.

. Once the door has opened or closed, the program should restart.
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